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1. Arrange the following subsidy expenditure in
decreasing order as per the budget 2023-24-
1. Petroleum subsidy
2. Fertiliser subsidy
3. Food subsidy
4. Interests subsidy for various government

scheme
[a] 1, 2, 3, 4 [b] 2, 1, 3, 4
[c] 3, 1, 2, 4 [d] 3, 2, 1, 4

Sol. [D]

According to the expenditure estimates of the bud-
get 2023-24-
Food subsidy - Rs 197350 crore,
Fertilizer subsidy - Rs 175099,
Interests subsidy for various government
scheme 28377 Rs.
Petroleum subsidy 2257 Rs.

2. Which of the following schemes has highest
allocation in budget 2023-24-
[a] Jal Jeevan Mission/Natonal Rural Drinking

Water Mission
[b] MGNREGS
[c] National Health Mission
[d] Pradhan Mantri Awas Yojana

Sol. [D]
Expenditure on major scheme in budget 2023-24
1. 79,590 Cr.-Pradhan Mantri Awas Yojana
2. 36,785 Cr. - National Health Mission
3. 60,000 Cr. - MGNREGS
4. 70000 Cr.-Jal Jeevan Mission/Natonal Rural
DrinkingWater Mission

3. Consider the following statement regarding
minimum support price-
1. It is fixed by cabinet committee on

Economic affairs on the recommendation
of the CACP.

2. In the case of all cereals, pulses and oil
seeds, the procurement at minimum
support price (MSP) is unlimited in any
state/UT of India.

Choose the correct statement-
[a] Only 1 [b] Only 2
[c] Only 1 and 2 [d] Neither 1 nor 2

Sol. [A]

The government of India announces minimum
support prices (MSP) for 22 major agricultural com-
modities and FRP for sugarcane each year in both
the cropping  seasons after taking into account the

1 2023 24

1

2

3

4

[a] 1 2 3 4 [b] 2 1 3 4

[c] 3 1 2 4 [d] 3 2 1 4
Sol. [D]

2023-24 

197350 
175099 

28377 
2257 

2 2023 24

[a]

[b]

[c]

[d]
Sol. [D]

2023 24
1. 79 590
2. 36 785
3. 60 000
4. 70000

3

1 CACP

2

(MSP)

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [A]

22
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recommendations of the commission for agricul-
ture costs and prices (CACP).
The overall procurement quantity should not nor-
mally exceed 25% of the actual production of the
commodity for the particular year/season over and
above the procurement limit of 25% if any, prior
approval of the Department of Agriculture (DAC)
shall be required.

4. National food security Act 2013 covers-
[a] 75% of rural population and upto 66% of

urban population
[b] 50% of rural population and upto 35% of

urban population
[c] 67% of rural population and upto 50% of

urban population
[d] 75% of rural population and upto 50% of

urban population
Sol. [D]

NFSA-2013 

Objective – Food & 
Nutritional Security.   

Coverage- Rural – 75%, 
Urban – 50%, Overall – 
67% of the total 
population.    

Eligibility – Priority 
households under TPDS 
according to guidelines by 
the state Government, 
households covered under 
existing Antyodya Yojna.      

5 Kg. of foodgrains per 
person per month at Rs. 
3/2/1 per Kg. for Rice 
/wheat/coarse grains. 
AAY-35Kg. of foodgrains 
per household per month.  

5. Which statement is correct regarding the
minimum support price?
[a] Minimum Support Price = A2 + FL cost
[b] Minimum Support Price < C2 cost
[c] Minimum Support Price > C2 cost
[d] Minimum Support Price = A2

Sol. [C]

A2 = Actual cost of production
A2 + F2 = FL = Cost of family labor
C2 = A2 + FL + Estimated rent of land +
Interest to be paid on capital
Hence MSP > C2

6. Which of the following scheme is related to
subsidy for electrical vehicles-
[a] PM-MITRA Scheme
[b] FAME India Scheme
[c] PM-KUSUM
[d] SAMARTH Scheme

Sol. [B]

FAME - Faster Adoption and manufacturing of
Hybrid and Electric vehicle (FAME  II)

25%

25%

4 2013
[a] 75 66

[b] 50 35

[c] 67 50

[d] 75 50

Sol. [D]

NFSA-2013 

Objective – Food & 
Nutritional Security.   

Coverage- Rural – 75%, 
Urban – 50%, Overall – 
67% of the total 
population.    

Eligibility – Priority 
households under TPDS 
according to guidelines by 
the state Government, 
households covered under 
existing Antyodya Yojna.      

5 Kg. of foodgrains per 
person per month at Rs. 
3/2/1 per Kg. for Rice 
/wheat/coarse grains. 
AAY-35Kg. of foodgrains 
per household per month.  

5
[a] A2 + FL 
[b] < C2 
[c] > C2 
[d] A2

Sol. [C]

A2

A2 F2 FL

C2 A2 FL

MSP > C2

6

[a]
[b]
[c]
[d]

Sol. [B]

II
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Budget - 10,000 Cr.

This scheme was launched to achieve the goals of
National electric mobility mission plan (NEMMP)

Phase I - 2015 to 2019

Phase II - 2019 to 2022

The subsidy will now be 15,000 per kwh for elec-
tric two wheelers under FAME India phase-II.

7. India's rank and HDI value in Human
Development Report 2021-22 is-

[a] 130 and 0.642 [b] 130 and 0.624
[c] 132 and 0.633 [d] 132 and 0.645

Sol. [C]

India's rank on the HDI has slipped from 130 in
2020 to 132 in 2021.

8. Which one of the following indicator is not
being included in HDI-

[a] Life expectancy at birth
[b] Mean years of schooling
[c] Gross national income per capita
[d] Livelihood of family

Sol. [D]

Life expectancy at birth

Mean years of schooling
Gross national income
Expected year of schooling

9. Consider the following statements about
world happiness report 2023 -

1. Finland is the happiest nation according
to this report.

2. Libiya is the unhappiest nation according
to this report.

3. This report is released annually.
Choose the correct statements-

[a] Only 1 and 2 [b] Only 2 and 3
[c] Only 1 and 3 [d] All of the above

Sol. [C]

Since 2012,  the world happiness report has been
released annually around march 20th as part of
the International Day of happiness celebration.
Afghanistan was ranked as the unhappiest nation
followed by lebanon, sierra leone, zimbabwe.

10. Which one of the following is not a key
factor to measure happiness in world
happiness report 2023-

10,000 

2015 2019
2019 2022

II
15,000

7 2021 22

[a] 130 0 642 [b] 130 0 624

[c] 132 0 633 [d] 132 0 645
Sol. [C]

2020 130

2021 132

8

[a]

[b]

[c]

[d]
Sol. [D]

9 2023

1

2

3

[a] 1 2 [b] 2 3

[c] 1 3 [d]
Sol. [C]

2012
20

10 2023
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[a] Generosity          [b] Absence of corruption
[c] Integrity             [d] Income

Sol. [C]

The ranking uses six key factors to measure happi-
ness - social support, income, health, freedom, gen-
erosity and absence of corruption

11. Which of the following is not a cause of cost-
push inflation-

[a] Increase in interest rates
[b] Increase in public expenditure
[c] Increase in tax rates
[d] Increase in the cost of raw material

Sol. [B]

Increase in public expenditure is the cause of
demand pull inflation.
Other factors of cost-push inflation-
Increase in land rent
wage rate rise
Increase in cost of infrastructure

12. When supply reduces dramatically while
demand remains constant the rise in prices
is called_________.

[a] Bottleneck Inflation
[b] Hyper Inflation
[c] Galloping Inflation
[d] Creeping Inflation

Sol. [A]

Bottleneck Inflation - When supply reduces dra-
matically while demand remains constant, the rise
in price is called bottlencek inflation, supply side
issue, dangers or mismanagement can lead to such
circumstances bottleneck inflation is one of the
examples of demand-pull inflation.

13. The base year for the calculation of GDP
deflator is -

[a] 2004 - 2005
[b] 2011 - 2012
[c] 2017 - 2018
[d] There is no need of base year for GDP

deflator

Sol. [B]

14. Consider the following statements about
consumer price Index (CPI)-

1. It is relased by national statistical office
(NSO).

[a] [b]

[c] [d]
Sol. [C]

11

[a]

[b]

[c]

[d]
Sol. [B]

12

[a]

[b]

[c]

[d]
Sol. [A]

13

[a] 2004 2005

[b] 2011 2012

[c] 2017 2018

[d]

Sol. [B]

14 (CPI)

1 (NSO)
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2. Base year for CPI is 2012.

3. The monetary policy committee (MPC)uses
CPI data to control inflation.

Choose the correct statement-

[a] Only 1 [b] Only 2 and 3

[c] Only 1 and 2 [d] All of the above

Sol. [D]

In April 2014, the Reserve bank of India (RBI) had
adopted the CPI as its key measure of inflation.

15. Consider the following statements-

1.  The weightage of food items in consumer
price Index (CPI) is higher than wholesale
price Index (WPI).

2. The WPI does not capture changes in the
prices of services which CPI does.

Choose the correct statements -

[a] Only 1 [b] Only 2

[c] Both 1 and 2 [d] None of the above

Sol. [C]

WPI tracks inflation at the producer level and
CPI captures changes in prices levels at the
consumer level.
WPI does not capture changes in the prices of
services, which CPI does.
In WPI, more weightage is given to manufac-
tured goods, while in CPI, more weightage is
given to food items.

16. According to in 2023-24, India’s GDP is
expected to grow from ______to___.

[a] 6.2 to 6.5 [b] 6.0 to 6.8

[c] 6.5 to 6.8 [d] 6.8 to 7.2

Sol. [B]

17. 'National Multidimensional Poverty Index'
released by-

[a] Office for National Statistics
[b] Ministry of Finance
[c] Ministry of Cooperation
[d] NITI Aayog

Sol. [D]

18. Arrange the following committees of poverty
estimation in chronological order -

2 2012
3 (MPC)

[a] 1 [b] 2 3
[c] 1 2 [d]

Sol. [D]

2014 (RBI)

CPI 

15

1 (CPI)
(WPI)

2

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [C]

WPI

WPI
CPI

WPI
CPI

16 2023 24

[a] 6 2 6 5 [b] 6 0 6 8
[c] 6 5 6 8 [d] 6 8 7 2

Sol. [B]

17

[a]
[b]
[c]
[d]

Sol. [D]

18
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1. Alagh committee

2. Planning commission expert group

3. Dandekar and rath committee

4. Lakdawala committee

[a] 2, 3, 4, 1 [b] 2, 3, 1, 4

[c] 3, 2, 4, 1 [d] 1, 2, 3, 4

Sol. [B]

1. Planning commission expert group-1962
2. Dandekar and rath - 1971
3. Alagh committee- 1979
4. Lakdawala committee - 1993

19. Okun's law is related to-

[a] Growth rate and Unemployment

[b] Inflation and Unemployment

[c] Poverty and Growth rate

[d] Income gap and Growth rate

Sol. [A]

It states the relationship between the growth rate
and unemployment rate of a country. There is an
inverse relationship between the two.
According to this rule, if the GDP of a country in-
creases by 3%, then the unemployment rate of that
country will decrease by 1%.

20. David is unemployed looking for work. He
is ready to work even for less than the fixed
wages, but in spite of this he is not getting
work. What kind of unemployment is he
experiencing?
[a] Involuntary Unemployment
[b] Frictional
[c] Cyclical Unemployment
[d] Underemployment

Sol. [A]

Frictional Unemployment:

Frictional Unemployment, also called Search
Unemployment, refers to the time lag between
the jobs when an individual is searching for a
new job or is switching between the jobs.

Cyclical Unemployment:
It is a result of the business cycle, where
unemployment rises during recessions and
declines with economic growth.“Cyclical
unemployment figures in India are negligible.
It is a phenomenon that is mostly found in
capitalist economies.

1
2
3
4
[a] 2 3 4 1 [b] 2 3 1 4
[c] 3 2 4 1 [d] 1 2 3 4

Sol. [B]

1. 1962

2. 1971

3. 1979

4. 1993

19

[a]
[b]
[c]

[d]
Sol. [A]

3%

1%

20

[a]
[b]
[c]
[d]

Sol. [A]
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21. National payment corporation of India
(NPCI) is an initiative of-
[a] RBI
[b] Indian Bank Association
[c] RBI and Indian Bank Association
[d] NABARD

Sol. [C]

The National Payments Corporation of India
(NPCI) is an initiative taken by the Reserve
Bank of India (RBI) and Indian Bank’s Asso-
ciation (IBA) to operate the retail payments
and settlement systems in India. This
organisation was founded in the year 2008
under the Payment and Settlement Systems
Act, 2007. NPCI has been incorporated as a
‘not for profit’ company under section 8 of
Companies Act 2013.

22. Which of the following sectors are included
in priority sector -
1. Agriculture
2. Micro, small and medium enterprises
3. Export credit
4. Education
[a] 1, 2, 4 [b] 1 and 2
[c] 1, 3 and 4 [d] All of the above

Sol. [D]
Categories of priority sector :-
1. Agriculture 2. MSME
3. Export credit 4. Education
5. Housing
6. Social infrastructure
7. Renewable Energy

23. Which of the following is not correct with
respect to phillips curve?
[a] A higher unemployment rate is associated

with lower inflation.
[b] A higher unemployment rate is associated

with higher inflation.
[c] A lower unemployment rate is associated

with higher inflation.
[d] High levels of employment can be

achieved at high level of inflation
Sol. [B]

The inverse relationship between the unemploy-
ment  rate and inflation is called phillips curve.

 

Inflation Rate  

Unemployment rate   

21 (NPCI)
[a]
[b]
[c]
[d]

Sol. [C]

2008
2007

2013 8

22

1
2
3
4
[a] 1 2 4 [b] 1 2
[c] 1 3 4 [d]

Sol. [D]

1. 2.
3. 4.
5. 6.
7.

23

[a]

[b]

[c]

[d]

Sol. [B]

 

Inflation Rate  

Unemployment rate   
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24

1
2

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [C]

25

1
2

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [D]

1976

50 : 15 : 35
26

1
2
3
4

[a] 1 4 [b] 1 2 4
[c] 1 2 3 4 [d] 2 3

Sol. [C]
27 RBI

[a] 1934 1947 [b] 1935 1947
[c] 1934 1949 [d] 1935 1949

Sol. [D]
RBI 1 1935

1934

24. Consider the following statements with
reference to legal tender -
1. Cheques drawn on savings or current

accounts are not legal tenders.
2. Currency notes and coins are fiat money.
Choose the correct statements-
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [C]

Cheques drawn on savings or current accounts can
be refused by anyone as a mode of payment.
Fait money also called fait currency is a form of
currency that is recognised as legal tender by the
government but has no inherent value.

25. Consider the following statements with
respect to RRB (Regional Rural Bank)-
1. The central government has the maximum

share in these.
2. Capital Adequacy ratio norms are not

applicable to it.
Choose the correct statements-
[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [D]

RRB were set up under the Regional Rural Banks
Act, 1976.
The funtion of financial regulation over RRBS is
exercised by Reserve Bank and the Supervisory
powers have been vested with NABARD.
The equity of the RRBS.
Central government : State Government : Sponser
Bank :: 50 : 15 : 35

26. Consider the following -
1. Disinvestment
2. Reducing expenditures
3. Raising tax rates
4. Rationalisation of subsidies
Which of the actions mentioned above if adopted
by government would reduce its deficit?
[a] 1 and 4 only [b] 1, 2 and 4 only
[c] 1, 2, 3 and 4 [d] 2 and 3 only

Sol. [C]
27. The year of establishment and

nationalisation of RBI is -
[a] 1934, 1947 [b] 1935, 1947
[c] 1934, 1949 [d] 1935, 1949

Sol. [D]

The RBI was established on April 1, 1935 in accor-
dance with the provisions of the reserve bank of
India Act, 1934.
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1949

28

[a]

[b]

[c]

[d]
Sol. [A]

1934 45

29

1

2

3

[a] 1 3 [b] 2 3

[c] 1 2 [d]
Sol. [C]

30
(SLR)

[a] (MSF)
[b] (LAF)
[c] (SDF)
[d]

Sol. [A]

Though originally privately owned, since
nationalisation in 1949, the reserve bank is fully
owned by the government of India.

28. Monetary policy committee is constituted by-
[a] Central government
[b] RBI
[c] RBI with the consultation of central government
[d] Central government with the consultation

of RBI.
Sol. [A]

Section 45 ZB of the amended RBI Act, 1934
provided for an empowered six member MPC to be
constituted by the central government by
notification in the Gazette.

29. Consider the following statements about
Monetary policy committee (MPC)-
1. The quorum for the meeting of the MPC is

four members.
2. Each member of the MPC has one vote,

and in the event of an equality of votes,
the governor has casting vote.

3. There is no need to give reasons by MPC
members for voting in favour of or against
the proposed resolution.

Choose the correct statement-
[a] Only 1 and 3 [b] Only 2 and 3
[c] Only 1 and 2 [d] All of the above

Sol. [C]

The MPC determines the policy repo rate
required to achieve the inflation target.
The MPC is required to meet at least four
times in a year. The quorum for the meeting
of the MPC is four members.
Each member of the MPC has one vote, and in
the event of an equality of votes, the Governor
has a second or casting vote.
Each Member of the Monetary Policy
Committee writes a statement specifying the
reasons for voting in favour of, or against the
proposed resolution.

30. The penal rate at which banks can borrow
on an overnight basis, from the RBI by
dipping into their statutory liquidity ratio
(SLR) is called-
[a] Marginal standing facility (MSF)
[b] Liquidity adjustment facility (LAF)
[c] Standing deposit facility (SDF)
[d] Reverse repo rate

Sol. [A]
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31

1

2

3

4

[a] 1 2 [b] 2 3

[c] 3 4 [d] 1 2 3 4
Sol. [D]

32

[a]

[b]

[c]

[d]
Sol. [D]

33

[a] [b]

[c] [d]
Sol. [A]

34

[a] [b]

[c] [d]
Sol. [D]

GST Council  

Article  279A  

Formed by president   

Chairman 
Union Finance 
Minister     

Members- 
Ministers 
Nominated by 
the  state 
government      

Centre have 
1/3rd voting 
power and 
the states 
have 2/3rd       

The decision 
are taken by 
3/4th majority    

31. Which of the following can be categorised
as high powered money?
1. Currency and coins held by the public.
2. Deposits held by commercial banks with RBI.
3. Deposits held by the government of India

with RBI.
4. Vault cash of commercial bank.
Choose the correct statements-

[a] 1 and 2 only [b] 2 and 3 only
[c] 3 and 4 only [d] 1, 2, 3 and 4

Sol. [D]

The total liability of the monetary authority of the
country, RBI  is called the monetary base or high
powered money.
It consists of currency (Notes and coins in circula-
tion with the public and vault cash of commercial
banks) and deposits held by the government of In-
dia and commercial banks with RBI.
Vault cash-cash kept on hand in a depository
institution's vault to meet day to day business
needs.

32. Bank Board Bureau is replaced by -

[a] Banking Services Board Bureau
[b] Financial and Banking Bureau
[c] Financial and Banking Service Bureau
[d] Financial Services Institution Bureau

Sol. [D]

The Bank Board Bureau has been replaced with
financial services institutions bureau.

33. Which one of the following is not a capital receipt-

[a] Interest received [b] Disinvestment
[c] Debt Recovered [d] Internal debt

Sol. [A]

Interest paid is a revenue expenditure.

34. GST Council is constituted by–

[a] Parliament [b] Union Government
[c] President [d] Union finance minister

Sol. [D]

GST Council  

Article  279A  

Formed by president   

Chairman 
Union Finance 
Minister     

Members- 
Ministers 
Nominated by 
the  state 
government      

Centre have 
1/3rd voting 
power and 
the states 
have 2/3rd       

The decision 
are taken by 
3/4th majority    
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35

1 2
3
4
[a] 1 2 [b] 1 3
[c] 1 4 [d] 1

Sol. [C]

36

1 (NRI)

2

[a] 1 [b] 2

[c] 1 2 [d]
Sol. [B]

GDP 

37 (FDI)

[a]

[b] 100% FDI 

[c] (DTH) 100% FDI

[d] 100% FDI 

Sol. [A]

38

35. Which of the following state indirect tax has
been subsumed in GST?

1. State VAT 2. Electricity duty
3. Road tax on vehicles
4. Advertisement tax on hoarding, banners
[a] Only 1 and 2 [b] Only 1 and 3
[c] Only 1 and 4 [d] Only 1

Sol. [C]

State's tax subsumed / replaced in GST-
State VAT
Purchase tax on vehicle, boats and animals
Advertisement tax on hoarding, banners
Luxury tax at hotels, Spas, Resorts
Entry tax / octroi for entry of goods in an area.
Taxes on lotteny, horse race betting
Entertainment tax on cinema etc.

36. Consider the following statements -

1. Goods and services produced by Non-
Resident Indians (NRIs) are included in the
Gross National Product.

2. Both expenditure and production methods
are used to calculate GDP in India.

Choose the correct statements-

[a] Only 1 [b] Only 2

[c] Both 1 and 2 [d] None of tha above

Sol. [B]

GDP means the monetary value of all final
goods and services produced in a financial
year by the residents of a country in the
economic sector of that country.

37. Which of the following is incorrect statement
regarding Foreign Direct Investment (FDI)
in India?

[a] The state receiving the maximum foreign
direct investment is Gujarat.

[b] 100% FDI is allowed in the pharmaceutical
industry in India.

[c] 100% FDI is permitted in the Direct to
Home (DTH) sector in India.

[d] 100% FDI is permitted in single brand retail
in India.

Sol. [A]

38. Which of the following calculates GDP in
India?
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[a]

[b]

[c]

[d]
Sol. [A]

39

1
100

2 Naaptol.com

[a] 1 [b] 2

[c] 1 2 [d]
Sol. [C]

1.

|

2.

   |

40 (TUFS)

[a]

[b]

[c]

[d]
Sol. [B]

41

1 IPO FPO

[a] National statistical office
[b] Ministry of commerce and Industry
[c] Indian statistical institute
[d] Reserve Bank of India

Sol. [A]

The National sample survey office merged with
the central statistical office to form the National
statistical office (NSO)

39. Choose the correct statements about e-
commerce in India-

1. 100% FDI under the automatic route is
permitted in the market place model of e-
commerce.

2. Naaptol.com is an example of marketplace
model.

[a] Only 1 [b] Only 2
[c] Both 1 and 2 [d] None of the above

Sol. [C]

The FDI policy in India classifies the e-commerce
sector into two groups. These are -
1. Marketplace mode

      |
Ex. Naaptol and shopclues etc.
2. Inventory mode

     |
Ex. Myntra

40. Technology Upgradation Fund Scheme
(TUFS) is related to-

[a] Drone manufacturing
[b] Textile sector
[c] Skill development
[d] Satellite construction

Sol. [B]

The major aim of the newly upgraded
Amended Technology Upgradation Funds
scheme are as follows:
Generation of employment opportunities and
enhancing the export facilities in the textile
industry.
Promotion of technical textiles industry.
Upgrading the different sectors of textiles in
terms of productivity and quality.

41. Consider the following statements-

1. Both IPO and FPO are part of the primary
capital market.
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2

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [C]

42

[a]

[b]

[c]

[d]

Sol. [A]

43.

[a]
[b]

[c]

[d]
Sol. [C]

7500
14,500

2. When the company becomes old then some
new shares can be issued by it, it is called
Right Issue.

Select the correct statement-

[a] 1 only [b] 2 only

[c] both 1 and 2 [d] none of these

Sol. [C]

42. In the context of economics, what are
Negative interest rates?

[a] It is an unconventional policy used by
Central Bank to push up inflation rates by
reducing interest rates past zero.

[b] Negative interest rates is an unconventional
policy used by Central Banks to attract
foreign investors.

[c] Negative interest rates is an unconventional
policy used by Central Banks to control
high inflation rates.

[d] Negative interest rates is an unconventional
policy used by Central Banks to increase
the cost of borrowing.

Sol. [A]

Interest rates are a monetary policy tool used
by central banks to influence inflation
throughout an economy. In case of a negative
interest rate a central bank attempts to com-
bat deflation by reducing interest rates past
zero, into negative rates.
In this situation instead of receiving money
on deposits in the form of interest, depositors
must pay regularly to keep their money with
the bank.

43. The main objective of this scheme is the
development and modernization of ports.
Inland transport and coastal development are
its co-components.
[a] Bharatmala Project
[b] Dedicated Freight Corridor
[c] Sagarmala Project
[d] Multimodal Logistics Park

Sol. [C]

The Sagarmala program is the flagship
program of the Ministry of Ports, Shipping and
Waterways to promote port-led development
in the country by utilizing India's 7500 km long
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2015 

44.

[a]
[b]

[c]

[d]
Sol. [D]

(PIL) 14 

PIL 2.0  2023 

45. 2020 

[a] 20 30 

[b] 10 

50 

[c] 20 50 

[d] 30 100

Sol. [B]

MSME    
(Micro)  1 

 
5 

 
(Small) 10 

 
50 

 
(Medium) 50 

 
250 

 
 46.

1.

2.

3.

[a] 1 [b]  1 3
[c] 1 2 [d]

coastline, 14,500 km of potentially navigable
waterways and strategic location on major
international maritime trade routes. was
approved by the Union Cabinet in March 2015
Its main objectives are port modernisation,
connectivity enhancement, port led
industrialisation, coastal community
development

44. Which of the following sectors is not a part
of Production Linked Incentive Scheme
under the aegis of Atmanirbhar Bharat?
[a] Electronic Technology Product
[b] Telecom and Networking Product
[c] Food Product
[d] Jewellery and Gems

Sol. [D]

Product Linked Incentive Scheme (PIL) is an
initiative to increase production mainly in 14
sectors. It does not include gems and jewels.
CHPS 2.0 started from May 2023.

45. As per the revised MSME clarification of 2020,
a small term enterprise is one which has

[a] Investment greater than INR 20 crore and
less than 30 crore

[b] Investment should not exceed INR 10 crore
and turnover should be less than INR 50 crore.

[c] Turnover greater than INR 20 crore and
less than 50 crore

[d] Turnover greater than INR 30 crore and
less than 100 crore.

Sol. [B]

MSME 
Clasification  

Investment  Turnover  

Micro  Maximum 
limit 1 Crore  

Less than 
5 Crore   

Small Maximum 
limit 10 Crore 

Less than 
50 Crore 

Medium Maximum 
limit 50 Crore 

Less than 
250 Crore 

 46. Taxes included in GST are-

1. State Value Added Tax

2. Luxury tax

3. Entertainment Fee

[a] 1 only [b] 1 and 3 only

[c] 1 and 2 only [d] All of the above



Page 16 of 32

Sol. [D]

GST 

VAT

47.

[a]

[b]

[c]

[d]

Sol. [C]

GST 
GST 

48.

[a] [b]

[c] [d]
Sol. [B]

49. 500 1000 

[a] 06 2016 

[b] 08 2017 

[c] 08 2016 

[d] 09 2016 
Sol. [C]

500 1000 8 2016,

50.

[a]

[b]

Sol. [D]
The following state government taxes are in-
cluded in GST-
State VAT
Central sales tax
Entertainment tax
Entrance fees
Luxury tax
Lottery tax

47. Which one is incorrect about GST?

[a] It is levied only on value addition.

[b] It is a destination based tax on consumers.

[c] Exports are not treated as zero rated
supply.

[d] Exemption from registration to persons
doing business on a small scale.

Sol. [C]

GST is a destination and consumer dependent
tax. Exports attract zero GST rate as the
destination and consumption area of exports
is not India.

48. If borrowing and liabilities are added to
budgetary deficit it becomes equal to-

[a] Primary deficit [b] Fiscal deficit

[c] Revenue deficit [d] Budgetary surplus

Sol. [B]
Budgetary Deficit = Fiscal Deficit + Net
Borrowing + Other Liabilities

49. Since when did the bank notes of Mahatma
Gandhi series of Rs 500 and Rs 1,000
denomination cease to be a legal tender?
[a] Midnight of 06 November 2016
[b] Midnight of 08 November 2017
[c] Midnight of 08 November 2016
[d] Midnight of 09 November 2016

Sol. [C]
500 and 1000 notes were declared illegal by
the Prime Minister from midnight on 8
November 2016. Its main objective was to stop
black money and terrorfunding.

50. Philips curve sets up a relation between:

[a] Taxes and inflation

[b] Inflation and unemployment
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[c]

[d]
Sol. [B]

51.

1.

2. 0 

[a] 2 [b] 1

[c] 1 2 [d] 1 2
Sol. [C]

0 1 
0 

1 

52.

[a] [b]

[c] [d]

Sol. [B]

NSO 

IIP 407 

53.

[a]

[b]

[c]

[d]

[c] Money supply and Aggregate demand

[d] Price and cost of production
Sol. [B]

It expresses the relationship between inflation
and unemployment. According to this curve,
there is an inverse relationship between the
inflation rate and the unemployment rate. If
there is an increase in the inflation rate, then
there will be a decrease in the unemployment
rate, so for the reduction in unemployment,
there should be a limited and controlled in-
crease in the inflation rate.

51. Consider the following statements:
1. The Repo rate is the rate at which other

banks borrow from the Central Bank of a
Country.

2. A value of 0 for Gini coefficient in a
country implies that there is perfectly
equality is income distribution.

Which among the above is/are correct?“
[a] 2 only [b] 1 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
The Gini coefficient is a mathematical form of
the Lorenz curve. Its value ranges from 0 to 1.
0 means complete equality in income distribution.
1 means absolute inequality in income distribution.

52. Single out the activity that is not included
in the Index of industrial production India.

[a] Manufacturing [b] Construction
[c] Mining [d] Electricity

Sol. [B]
The Index of Industrial Production gives
information about the status of production in
the industrial sector in a particular period. It
is released by NSO every month.
IIP is measured on the basis of output of 407
items of manufacturing, mining and power
sector, in which manufacturing sector has the
highest weightage.

53. Which is no included in money supply by
Reserve Bank of India (RBI)?

[a] Currency with Public
[b] All deposits of Commercial banks
[c] Other deposits with RBI
[d] Post Office's all Deposits
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Sol. [D]

54.

[a]

[b]

[c]

[d]

Sol. [A]

100
/



55. GDP 

[a]

[b]

[c]

[d]
Sol. [A]

GDP 
GDP 

(Real GDP) 
56.

[a] M4 [b] M3

[c] M2 [d] M1

Sol. [D]

M1 

RBI 

57.

[a]

[b]

Sol. [D]

Reserve Bank of India money supply does not
include all post office deposits like National
Savings Services.

54. Unemployment Rate' is defined as

[a] The number of persons unemployed as a
proportion of labour force

[b] The number of persons unemployed as a
proportion of the working age population

[c] The ratio of persons unemployed to those
employed

[d] Both (The number of persons unemployed
as a proportion of labour force) and (The
number of persons unemployed as a
proportion of the working age population)

Sol. [A]
A person who is willing to work at the
prevailing wage rate but does not get work is
called unemployed.

100
No.of Unemployed person

Unemployment rate
Total Labour Force

55. At what price real GDP is calculated?

[a] Market Price

[b] Constant Price

[c] Administered Price

[d] International Market Price

Sol. [A]

When GDP is calculated at base year prices, it
is called GDP at constant prices. In this the
effect of inflation is removed. This is called
Real GDP.

56. Which of the following money is most liquid
and easiest for transaction?

[a] M4 [b] M3

[c] M2 [d] M1

Sol. [D]
Under M1, deposits with public, demand
deposits with banks, other deposits with RBI
are included. Hence it is most liquid and
exchangeable.

57. Which of the following is not an objective
of Monetary Policy?
[a] Full employment
[b] Price stability
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[c]
[d]

Sol. [D]

58.

[a]

[b]

[c]

[d]

Sol. [A]

59. GNP GDP 

[a]

[b]

[c]

[d]
Sol. [A]

60.

[a]

[b]

[c]

[d]

Sol. [B]

61.

[a]

[b]

[c]

[d]

Sol. [B]

[c] Equilibrium of Balance of Payment
[d] Balanced Budget

Sol. [D]
The main objective of monetaly policy is to
balance the supply and demand of money,
maintaining Inflation Balance of payment and
full employment. Balance budget is not an
objective as in developing countries fiscal
deficit is desriable.

58. Revenue deficit of any government depicts
the following:
[a] Excess of revenue expenditure over

revenue receipts.
[b] Net Borrowing of the government
[c] Revenue expenditure plus net borrowing
[d] Overall deficit of the government

Sol. [A]
Revenue Deficit = Revenue Income - Revenue
Expenditure

59. The difference between GNP and GDP is

[a] Net factor income from abroad
[b] Net indirect taxes
[c] Net exports
[d] Depreciation

Sol. [A]
GNP includes the total value of all goods and
services generated by a country's citizens and
enterprises regardless of where they are.

60. Disinvestment is an important instrument of
which of the following policy?

[a] Monetary policy

[b] Fiscal policy

[c] Credit policy

[d] Export policy

Sol. [B]
Disinvestment is a part of fiscal policy. In the
budget it is included in capital receipts.

61. National Income:

[a] The net national product at market prices.

[b] The net national product at the factor cost

[c] The net domestic product at market price.

[d] The net domestic product at the factor cost

Sol. [B]
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62.

[a] [b]

[c] [d]

Sol. [D]

63. I II 

I II

A. 1.

B. 2.

C. 3.

D. 4.

A B C D A B C D

[a] 3 1 2 4 [b] 4 3 2 1

[c] 1 3 2 4 [d] 3 1 4 2

Sol. [A]

1997

62. According to which of the following curves,
Inflation and Unemployment have a stable
and inverse relationship?

[a] Lorenz curve [b] Engel curve
[c] Laffer curve [d] Phillips curve

Sol. [D]

63. Match List-I with List-II and select the
correct answer using the codes given below
the lists, -

(List-I) (List-II)

Term Explanation

A. Fiscal deficit 1. Excess of total
expenditure over
total receipts

B. Budgetary deficit 2. Excess of revenue
expenditure over
revenue receipts

C. Revenue deficit 3. Excess of total
expenditure over
total receipts less
borrowings

D. Primary Deficit 4. Excess of total
expenditure over
total receipts less
interest payments.

Code:
A B C D A B C D

[a] 3 1 2 4 [b] 4 3 2 1
[c] 1 3 2 4 [d] 3 1 4 2

Sol. [A]
Fiscal Deficit-: The difference between the
total amount of money that the government
spends and the total amount of money it
receives, excluding any borrowed funds.
Budgetary Deficit-: The difference between total
expenditure and total receipt. It's current value
is zero and its not being calculated since 1997.
Revenue deficit-: Revenue Expense – Revenue
Receipts .
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64. (P-Note)

[a]

[b]

[c]

[d]

Sol. [B]

65.

[a]

[b]

[c]

[d]

Sol. [C]

266 (1)

66.

[a]

[b]

[c]

[d]

Sol. [C]

2021

67.

Primary Deficit-: Fiscal deficit - Interest Payments.

64. Participatory Notes (P-Note) are related to
which of the following?

[a] Consolidated Fund of India

[b] Foreign Institutional Investor

[c] United Nations Development Program

[d] Kyoto Protocol
Sol. [B]

 Participatory Notes (P-Note) are financial
instruments required by Foreign Institutional
investors or hedge funds to invest in Indian
securities without having to register with the
Securities and Exchange Board of India (SEBI)

65. All revenue received by the Central
Government in the conduct of Government
business and other receipts is credited to:

[a] Contingency Fund of India

[b] In the public account

[c] Consolidated Fund of India

[d] Deposit and Advance Fund
Sol. [C]

All revenues received by the Government by
way of taxes like Income Tax, Central Excise,
Customs and other receipts flowing to the
Government in connection with the conduct
of Government business i.e. Non-Tax
Revenues are credited into the Consolidated
Fund constituted under Article 266 (1) of the
Constitution of India.

66. Recently, on the recommendations of which
committee, the regulatory framework of
urban cooperative banks has been revised by
the Reserve Bank of India?

[a] KV Kamath Committee

[b] Sunil Mehta Committee

[c] NS Vishwanathan Committee

[d] Urjit Patel Committee
Sol. [C]

RBI had constituted the Expert Committee on
Primary (Urban) Co-operative Banks under
the chairmanship of N S Vishwanathan in
February 2021.

67. Which one of the following best describes
the term “Merchant Discount Rate”
sometimes seen in the news?
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[a]

[b]

[c]

[d]

Sol. [C]

68.

1.

2.

3.

4.

[a] 1 2 [b] 2 4

[c] 1 3 [d] 3 4

Sol. [A]

[a] It is an incentive given by a bank to a
merchant to accept payment through the
debit card of that bank.

[b] It is the amount given back by banks to
their customers for financial transactions
for purchase of goods and services, using
debit cards.

[c] It is a charge levied by a bank on a
merchant for accepting debit card
payments from its customers.

[d] It is an incentive given by the government
to merchants to promote digital payments
from their customers through Point of Sale
(POS) machines and debit cards.

Sol. [C]
Merchant Discount Rate is levied on credit
and debit card payments to a trader for
payment processing services. It comprises all
the charges and taxes required to pay digitally.

68. Which of the following situations will lead
to Inflation in Indian economy-

1. Devaluation of Indian Rupee with
reference to US Dollar

2. Increased floor wage rate in domestic
companies

3. Decreased Fiscal Deficit of Union
Government

4. Increased Interest Rate of lending institutes
Select the correct code-
[a] 1 and 2 [b] 2 and 4
[c] 1 and 3 [d] 3 and 4

Sol. [A]
Devaluation of Indian Rupee with reference
to US Dollar will increase inflation as more
indian rupee will be required to purchase
same amount of goods. Hence, liquidity in
domestic market will decrease resulting in
higher rate of inflation.
When floor rate for workers increase, money
in the hand of people increases resulting in
demand pull inflation.

When government's fiscal deficit decreases,
it means government's expenditure decrease
and liquidity decreases hence inflation will be
curbed.

Increase in interest rate by finacial institutions
will make loans costly hence loan's demand
will decrease leading to decrease inflation.
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69.

[a]

[b]

[c]

[d]

Sol. [A]

70.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [C]

71.

1.

2. 18 55

3.

4. 3

[a] 1, 2 3 [b] 1, 3 4

[c] 2, 3 4 [d]

Sol. [D]

69. What is the ‘Crowding out’ effect?

[a] High Inflation

[b] Reduction in investment

[c] Increase in investment

[d] Decrease in private expenditure due to
increase in government expenditure

Sol. [A]
The crowding out effect is a theory that
suggests that increased government spending
ultimately decreases private sector spending.
This is due to the higher cost of loans and
reduced income that can result when the
government increases taxes or borrows by
selling Treasuries to obtain more revenue for
its own spending.

70. Consider the following statements regarding
Derivatives-

1. Forwards are over-the-counter contracts
between two parties on a future date.

2. Futures are standardized contracts
undertaken through stock exchanges.

Select the correct statements-

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2
Sol. [C]

A forward contract is a private and
customizable agreement that settles at the end
of the agreement and is traded over the
counter (OTC).
A futures contract has standardized terms and
is traded on an exchange, where prices are settled
on a daily basis until the end of the contract.

71. Which of the following are the eligibility
criterion for the Swarnima scheme?
1. The applicant must be female.
2. Age – between 18-55 years
3. The applicant must be Entrepreneur
4. The Total Annual Family Income of the

Applicant must be Less than 3 Lakh per
Annum

[a] 1, 2 and 3 only [b]  1, 3 and 4 only
[c] 2, 3 and 4 only [d] All of the above

Sol. [D]
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The objective of the scheme is to provide social
and financial security to women entrepreneurs
belonging to backward classes.
The age of the applicant must be between 18
and 55 years.
The total annual family income of the applicant
must be less than 3,00,000/-.

72. Which of the following scheme is not the
component of the National Social Assistance
Programme ( NSAP)? .
1. Indira Gandhi National Disability Pension

Scheme (IGNDPS)
2. National Family Benefit Scheme (NFBS)
3. Annapurna Scheme
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] All of the above

Sol. [*]
Presently NSAP now comprises of the
following five schemes:-
Indira Gandhi National Old Age Pension
Scheme (IGNOAPS)
Indira Gandhi National Widow Pension
Scheme (IGNWPS)
Indira Gandhi National Disability Pension
Scheme (IGNDPS)
National Family Benefit Scheme (NFBS)
Annapurna

73. With reference to Stand Up India Scheme,
which  of the following statement is/are correct?
1. Ministry – The Ministry of corporate

affairs
2. Age -The age of the applicant must be at

least 21 years.
3. If the applicant is male , he must be from

SC / ST category
[a] Only 2 [b] Only 3
[c] Only 1 [d] Only 1 and 2

Sol. [B]
 A scheme by Ministry of Finance for financing SC/

ST and/or Women .
If the applicant is male , he must be from SC / ST
category.

 Objective -  To facilitating bank loans for setting up a
greenfield project enterprise in manufacturing
services, trading sector etc.

 Age- The age of the applicant must be at least 18 years.
74. Consider the following statements related to

Pradhan Mantri Ujjawala Yojana
1. Minstry : Ministry of Finance
2. The applicant must attend the age 60.
3. Objective : To make clean cooking fuel

available to the rural and deprived
households

18 55
3,00,000

72.
(NSAP)

1.

2.
3.
[a] 1 2 [b] 2 3
[c] 1 3 [d]

Sol. [*]

(IGNOAPS)

(IGNWPS)

(IGNDPS)

(NFBS)

73.

1.
2. 21

3.

[a] 2 [b] 3
[c] 1 [d] 1 2

Sol. [B]

18

74.

1.
2. 60
3.
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Incorrect statement is/are-
[a] Only 2 [b] Only 3
[c] Only 1 [d] Only 1 and 2

Sol. [D]
 Ministry : Ministry of Petroleum and Natural

Gas (MOPNG)
 Objective : To make clean cooking fuel such as

LPG available to the rural and deprived
households

 Eligibility : The Applicant must have attained
18 years of age.

75. With reference to Indira Gandhi National
Widow Pension Scheme, which  of the
following statement is/are correct.
1. The scheme is implemented by Ministry

Social Justice and Empowerment.
2. For widows who are 80 years and above

the pension is Rs.500/- per month.
3. Pension will be discontinued once the

beneficiary widow moves above poverty
line.

[a] Only 2 and 3 [b] Only 1 and 2
[c] Only 1 and 3 [d] All of the above

Sol. [A]
 Ministry: Ministry of Rural Developmemt
 Objective : It is a non-contributory pension

scheme to provide social security to widows
of poor family (BPL)  of the society.

 Eligibility :  A pension of Rs.300/- per month
is provided to Widows between 40 years and
79 years. For widows who are 80 years and
above the pension is Rs.500/- per month.

 Pension will be discontinued
(i) once the widow moves above poverty line.
(ii) In case of remarriage of widow

76. Which of the following statements are correct
related to Deen Dayal Upadhyaya Grameen
Kaushalya Yojana (DDU-GKY)?
(i) It is skill training and placement program of

the Ministry Social Justice and Empowerment.
(ii) At the national level, 50% of the funds

would be earmarked for SCs and STs.
[a] Only 2 [b] Only 1
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
 Ministry: Ministry of Rural Development

(MoRD).
 The target group for DDU-GKY are poor rural

youth in the age group 15-35.
 The upper age limit for women candidates,

PVTGs, PwDs, and Transgender etc. shall be
45 years.

[a] 2 [b] 3
[c] 1 [d] 1 2

Sol. [D]




 18

75.

1.

2. 80
500

3.

[a] 2 3 [b] 1 2
[c] 1 3 [d]

Sol. [A]



 40 79 300
80

500


(i)
(ii)

76. (DDU-
GKY)

1.

2. 50

[a] 2 [b] 1
[c] 1 2 [d] 1 2

Sol. [A]

15 35

45
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50

77. (ONORC)

1.

2.

[a] 2 [b] 1
[c] 1 2 [d] 1 2

Sol. [D]

78. (PMVVY)

[a]
[b]
[c]
[d]

Sol. [A]

60

79.
1.

2. 50 000

[a] 2 [b] 1
[c] 1 2 [d] 1 2

Sol. [B]
*

10

*
*

50 000
50 001 5 00 000

 At the national level, 50% of the funds would
be earmarked for SCs and STs.

77. Consider the following statements related
to One Nation One Ration Card.
(i) This  scheme is being implemented under

National Food Security Act (NFSA).
(ii) Aadhar linkage of ration cards of migrant

workers is mandatory for availing
benefits in other states.

Which of the above statements is /are
incorrect ?
[a] Only 2 [b] Only 1
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
 Ministry: The Ministry of Consumer Affairs,

Food and Public Distribution
 The ONORC (One Nation One Ration Card)

scheme is being implemented under National
Food Security Act (NFSA).

 Aadhar linkage of ration cards of migrant
workers is mandatory for availing benefits in
other states.

78. The Pradhan Mantri Vaya Vandana Yojana
(PMVVY) comes under which ministry ?
[a] Ministry of Finance
[b] Ministry of Social Justice & Empowerment
[c] Ministry of Rural Development
[d] Ministry of Home Affairs

Sol. [A]
 Ministry : Ministry of Finance
 Pension Scheme exclusively for the senior

citizens aged 60 years and above.
79. Find incorrect statement related to Pradhan

Mantri Mudra Yojana.
1. This scheme is run by Ministry of Skill

development and Entrepreneurship.
2. The  'Shishu category' provides  loans up

to Rs. 50,000/-
[a] Only 2 [b] Only 1
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
* Pradhan Mantri Mudra Yojana (PMMY) is a

flagship scheme of Government of India. The
scheme facilitates micro credit/Loan up to Rs.
10 lakh.

* Ministry : Ministry of Finance
* The benefits under the scheme has been

classified under three categories as ‘SHISHU’,
‘KISHOR’ and ‘TARUN’.

* Shishu: Covering loans up to Rs. 50,000/-
* Kishor: Covering loans from Rs. 50,001 to Rs.

5,00,000/-
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5 00 001 10 00 000

80.

1. 1 50 000
2. 21
3.
[a] 1 2 [b] 2 3
[c] 1 3 [d]

Sol. [D]

250
1 50 000
21

81.

1.

2. (OSC)
(WHL)

(BBBP)

3.

[a] 1 2 [b] 2 3

[c] 1 3 [d]

Sol. [D]






 (OSC)
(WHL) (BBBP)



82. (APY)

1.

2. APY 18 40

[a] 2 [b] 1

[c] 1 2 [d] 1 2

* Tarun: Covering loans from Rs. 5,00,001 to Rs.
10,00,000/-

80. Find the correct statements related to the
Sukanya Samriddhi Yojana (SSY)

1. The Maximum Investment is Rs. 1,50,000
per annum.

2. The Maturity Period is 21 years.
3. Ministry : Ministry of Finance.
[a] Only 1 and 2 [b] Only 2 and 3
[c] Only 1 and 3 [d] All of the above

Sol. [D]
 Ministry : Ministry of Finance.
 The Minimum Investment is 250 per annum
 The Maximum Investment is 1,50,000 per

annum.
 The Maturity Period is 21 years.

81. With reference to Mission Shakti consider
the following statements.
1. Mission Shakti’ has two sub-schemes -

 ’Sambal’ and ‘Samarthya’. 
2. Under the Sambal scheme One Stop

Centre (OSC), Women Helpline (WHL),
Beti Bachao Beti Padhao (BBBP) comes.

3. Under Samarthya scheme Ujjwala,
Swadhar Greh and Working Women
Hostel have been included 

[a] Only 1 and 2 [b] Only 2 and 3
[c] Only 1 and 3 [d] All of the above

Sol. [D]
 Ministry : Ministry of Women & Child

Development
 Objective : To  strengthening interventions for

women safety, security and empowerment
 Mission Shakti’ has two sub-schemes -

 ’Sambal’ and ‘Samarthya’
 Sambal sub- scheme : One Stop Centre (OSC),

Women Helpline (WHL), Beti Bachao Beti
Padhao (BBBP) etc. have been included.

 Samarthya sub-scheme : Ujjwala, Swadhar
Greh and Working Women Hostel have been
included 

82. Find the correct  statements related to Atal
Pension Yojana (APY).

1. It focusses on the all individuals engaged
in the organised sector.

2. Age of joining APY is 18 years to 40 years.

[a] 2 only [b] 1 only

[c] Both 1 and 2 [d] Neither 1 nor 2
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Sol. [A]
 Ministry : Ministry of Finance
 It focussed on the all citizens in the

unorganised sector.
 Age of joining APY is 18 years to 40 years.

83. Consider the following statements related to
PM-DevINE scheme.

1. This scheme is implemented by the
Ministry of Development of North Eastern
Region (MDoNER).

2. It is is a Central Sector Scheme.
Which of the above statements is /are correct ?
[a] 2 only [b] 1 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
PM-DevINE scheme :
 Prime Minister’s Development Initiative for

North Eastern Region
 This scheme is implemented by the Ministry

of Development of North Eastern Region
(MDoNER).

 It is is a Central Sector Scheme.
84. The MISHTI scheme is related to which ministry?

[a] Ministry of Finance
[b] Ministry of labour and employment.
[c] The Ministry of Consumer Affairs, Food

and Public Distribution
[d] Ministry of Enviornment , Forest and

Climate Change
Sol. [D]

 Ministry : Ministry of Enviornment , Forest
and Climate Change

 Objective : MISHTI envisage to
comprehensively explore the possible area for
the development of mangroves

 Mangrove Initiative for Shoreline Habitats
and Tangible Incomes (MISHTI) scheme

85. The full form of PM- SVANidhi scheme–

[a] Prime Minister street vendor’s Atma nirbhar nidhi

[b] Prime Minister svavlamban nidhi

[c] Prime Minister stree vikas and nirbhaya nidhi

[d] Prime Minister swadeshi aarogya nidhi
Sol. [A]

 Prime Minister street vendor’s Atma nirbhar
nidhi

 The scheme intends to facilitate collateral free
working loans  up to 10,000/ for one-year
tenure

Sol. [A]

18 40

83. PM-DevINE

1.

2.

[a] 2 [b] 1

[c] 1 2 [d] 1 2

Sol. [C]







84.

[a]

[b]

[c]

[d]

Sol. [D]







85.

[a]

[b]

[c]

[d]

Sol. [A]

10 000
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 This scheme is launched by the Ministry of
Housing & urban affairs

 The PM- SVANidhi scheme is available to all
street vendors who are engaged in vending in
urban areas as on or before March 24, 2020. 

86. Consider the following statements regarding
Kisan Credit Card (KCC)

1. It was first recommended by R.V. Gupta
committee in 1998.

2. It includes all type of farmers i.e.
agriculture, Marine and animal husbandry.

3. Under it, collateral free short-term and
long-term credit can be avail from selected
Regional Rural Banks.

Select the correct statement/s-

[a] 1, 2 and 3 [b] 1 and 2
[c] 3 only [d] 1 and 3

Sol. [B]
 The model of KCC scheme was prepared

by NABARD (National Bank for
Agriculture and Rural Development) that
met the recommendations of RV Gupta
committee on 15 August 1998.

 Farmers having KCC credit are covered
under personal accidental insurance up to
Rs 50,000 for permanent disability and
death and up to Rs 25,000 for other risks. 

 It is available at all Indian banks; regional
rural banks and the co-operative banks.
Farmers can avail collateral free short-
term credit limits for crops and term loans
up to Rs 3 lakh.

 It includes all type of farmers i.e.
agriculture, Marine and animal husbandry.

87. Which of the following is a disadvantage of
Green Revolution?
1. Monoculture farming
2. Groundwater depletion
3. Use of synthetic fertilizers
4. Extinction of traditional varities
Select the correct code-
[a] 1, 2 and 3 [b] 2 and 3
[c] 1, 2 and 4 [d] All of the above

Sol. [D]
 All of the above options are the

disadvantages of Green Revolution.
88. Consider the following statements regarding

PM-KISAN scheme-

24 2020

86

1
1998

2

3

[a] 1 2 3 [b] 1 2
[c] 3 [d] 1 3

Sol. [B]


15
1998



50 000
25 000



3



87

1

2

3

4

[a] 1, 2 3 [b] 2 3

[c] 1, 2 4 [d]

Sol. [D]


88
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1
60 40

2
2011

3
6 000

[a] 1 [b] 2

[c] 3 [d]

Sol. [C]

 100
1 12 2018

 2

6 000



 3

89

1

2

50000 3

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [D]



2015 16

1. It is a centrally sponsor scheme with
funding share of 60:40 between center and
states.

2. The beneficiaries are identified by Socio-
economic caste census, 2011 at national level.

3. Under it, an income support of 6,000/- per
year in three equal instalments will be
provided to farmer.

Select the correct statement/s-
[a] 1 only [b] 2 only
[c] 3 only [d] All of the above

Sol. [C]

 PM Kisan is a Central Sector scheme with
100% funding from Government of India.
It has become operational from 1.12.2018.

 Under the scheme an income support of
6,000/- per year in three equal instalments
will be provided to small and marginal
farmer families having combined land
holding/ ownership of up to 2 hectares.

 Definition of family for the scheme is
husband, wife and minor children. State
Government and UT administration will
identify the farmer families which are
eligible for support as per scheme
guidelines.

 Hence, only statement 3 is correct.
89. Consider the following statements regarding

Paramparagat Krishi Vikas yojana-

1. It is an elaborated component of Soil
Health Management (SHM) of major
project National Mission of Sustainable
Agriculture (NMSA).

2. Under the programme, financial assistance
of Rs 50000/ha/3years is provided for
cluster formation, capacity building,
incentive for inputs, value addition and
marketing.

Select the incorrect statement/s-

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]

 Government of India has been
implementing dedicated scheme of
Paramparagat Krishi Vikas Yojana (PKVY)
since 2015-16 to promote chemical free
organic farming in the country in cluster
mode. 
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

50000 3

90

1 EPZ,
1965

2 1976
100

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [B]



1965

 1979

 1976 10AA

1 100

2 50

3 50

91

1 2022

2 2021

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [C]

 Under the programme, financial assistance
of Rs 50000/ha/3 years is provided for
cluster formation, capacity building,
incentive for inputs, value addition and
marketing. 

90. Consider the following statements-
1. In Asia, the first EPZ, i.e., Export

Processing zone, was established in
Kandla in 1965.

2. Under Income Tax Act, 1976, 100% of
profits are exempt from income tax for the
first ten years of production in Special
Economic Zone

Select the incorrect statement/s-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
 India was one of the first in Asia to

recognize the effectiveness of the Export
Processing Zone (EPZ) model in
promoting exports, with Asia’s first EPZ
set up in Kandla in 1965.

 The first in China following the opening
of China in 1979 by Deng Xiaoping was the
Shenzhen Special Economic Zone.

 Under Section 10AA of the Income Tax
Act, 1976, the Special Economic Zone in
India has been provided with various
exemptions. These exemptions are
discussed below:

1. 100% of profits are exempt from income
tax for the first five years of production.

2. 50% of the profits are exempt from income
tax for the next five years of production.

3. 50% of the profits are exempt for five
consecutive years provided such profit is
transferred to the Special Economic Zone
Re-investment Reserve Account.

91. Consider the following statements regarding
Indian Automobile market-
1. In December 2022, India became the 3rd

largest automobile market.
2. In 2021, India was the largest

manufacturer of two-wheeler and three-
wheeler vehicles and the world’s fourth-
largest manufacturer of passenger cars.

Select the correct statement/s-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
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 2022 23

92 FDI

[a] [b]
[c] [d]

[a] 1, 2, 3, 4 [b] 2, 3, 1, 4
[c] 2, 3, 4, 1 [d] 3, 4, 1, 2

Sol. [B]


1. 2.
3. 4.
5.

93

1

2

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [B]

1

5 000
2 25 000

3
15 000

4
94 [CBDC]

1

2

3

 Both statements are correct according to
Economic Survey 2022-23.

92. Arrange the following countries in
descending order of India's FDI inflow.
1. UAE 2. Mauritius
3. USA 4. Netherland
Select the correct code
[a] 1, 2, 3, 4 [b] 2, 3, 1, 4

[c] 2, 3, 4, 1 [d] 3, 4, 1, 2

Sol. [B]
 As per data from DPIIT, may 2023 the

correct order of FDI inflows are-
1. Mauritius 2. USA
3. UAE 4. Netherland

5. Japan

93. Consider the following statements regarding
Maharatana PSU status-

1. This status is acquired by PSUs on the
bases of net profit, turnover and net worth
generated in last five years.

2. Recently, rural electrification corporation
became the 12th Maharatna.

Select the correct statement/s-

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
Following are the conditions of Maharatna
status-
1. Status is granted to a company which has

recorded more than Rs. 5,000 crores of net
profit for three consecutive years,

2. An average annual turnover of Rs.
25,000 crore for three years

3. Should have an average annual net worth
of Rs. 15,000 crore for three years.

4. It should also have global operations or
footprints.

94. Consider the following statements regarding
Central Bank Digital Currency [CBDC]-

1. It would reduce the cost of
currency management while
enabling real-time payments without
any inter-bank settlement.

2. It can be converted or exchanged at par
with similarly denominated cash and
traditional central bank deposits.

3. It is a non-legal currency acting as a asset
in RBI’s balance sheet.
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[a] 1 2 3 [b] 1 3
[c] 1 2 [d] 1

Sol. [C]










95

1

2 100
FDI

[a] 2 [b] 1

[c] 1 2 [d] 1 2

Sol. [C]
 2016

2018

 2019
100

96

1 2

3 4

[a] 1 3 2 4 [b] 3 2 1 4

[c] 2 1 4 3 [d] 2 4 3 1

Sol. [B]
31 05 2023

Select the correct statement/s-

[a] 1, 2 and 3 [b] 1 and 3
[c] 1 and 2 [d] 1 only

Sol. [C]
 It is a legal tender and a central bank

liability in digital form denominated in
a sovereign currency and appearing on
the central bank’s balance sheet.

 It is the same as a fiat currency and
is exchangeable one-to-one with the fiat
currency. Only its form is different.

 It can be converted or exchanged at par
with similarly denominated cash and
traditional central bank deposits.

 Foreign trade transactions could
be speeded up between countries
adopting a CBDC.

 The cost of printing, transporting and storing
paper currency can be substantially reduced.

95. Consider the following statements with
reference to the steel sector in India:
1. India is the world’s second-largest crude

steel producer.
2. 100 percent FDI through the automatic

route is allowed in the steel sector in India.
Which of the statements given above is/are correct?
[a] 2 only [b] 1 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
 India became the third-largest producer

of raw steel in 2016 and the second-largest
producer of crude steel in 2018.

 100 percent FDI through the automatic
route is allowed in the steel sector in India
since 2019.

96. With reference to electricity production in
India, arrange the following in decreasing
order of their contribution to power
generation capacity.
1. Wind Energy 2. Hydel power
3. Solar power 4. Waste to energy
Select the correct answer using the code
given below.
[a] 1-3-2-4 [b] 3-2-1-4
[c] 2-1-4-3 [d] 2-4-3-1

Sol. [B]
Total Installed Capacity (As on 31.05.2023) -
 Source : Central Electricity Authority
(CEA)-
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Hydro 11.2 % 

Wind, Solar & Other RE 30.2 % 

Wind 10.3 % 

Solar 16.1 % 

BM Power/Cogen 2.5 % 

Waste to Energy 0.1 % 

Small Hydro Power 1.2 % 

 97 [PMFME]

1

2

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [C]




 2020 21 2024 25

98

[a] 2015 

[b]

[c]

[d]

Sol. [D]

99

1 100% 

Hydro 11.2 % 

Wind, Solar & Other RE 30.2 % 

Wind 10.3 % 

Solar 16.1 % 

BM Power/Cogen 2.5 % 

Waste to Energy 0.1 % 

Small Hydro Power 1.2 % 

 97. Consider the following statements regarding
PM Formalization of Micro Food Processing
Enterprise [PMFME]-

1. The scheme was launched under Atma
Nirbhar Bharat Abhiyan to enhance the
value chain of Agri products.

2. One District- One Product is a key
component of this scheme.

Select the correct statement/s-

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2
Sol. [C]

 Launched under Atma Nirbhar Abhiyan,
it aims to enhance the competitiveness of
existing individual micro-enterprises in
the unorganised segment of the food
processing industry and their entire value
chain.

 The scheme adopts the One District One
Product (ODOP) approach to reap the
benefit of scale in terms of procurement
of inputs, availing common services and
marketing of products.

 It will be implemented over a period of
five years from 2020-21 to 2024-25.

98. Which of the following is an incorrect
statement with respect to Payments Bank?
[a] They were established in the year 2015.
[b] They were established on the recommendation

of the Nachiket Mor Committee.
[c] Payment banks can issue debit cards.
[d] Payments Banks can issue credit cards.

Sol. [D]
99. Choose the correct statement from the following

regarding India Post Payments Bank.

1. It is a 100% Government of India owned
organization.
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2. Through this basic banking facilities can
be obtained.

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]

It accepts deposits, offers remittance services,
mobile banking and third-party fund transfers.
It offers 3 types of saving account Regular
Account – Safal, Basic Savings Bank Deposit
Account (BSBDA) – Sugam and BSBDA Small –
Saral

100. Which of the following is not an example of
revenue expenditure?
[a] Subsidy [b] Scholarship
[c] Payment of loans [d] Old age pension

Sol. [C]
Payment of loans is a Capital expenditure.

101. Find the area of a rhombus whose one side is 20
cm and one diagonal is 24 cm.
(a) 192 cm2 (b) 384 cm2

(c) 768 cm2 (d) None of these
Sol. [B]

Let the other diagonal be 2 cm
Since the diagonals of a rhombus bisect each other
at right angles, we have:
(20)2 = (12)2 + x2

16  2 2x = (20) - (12) 256 cm

Thus, other diagonal = 32 cm

Area of rhombus =
1
2

× (Product of diagonals)

= 
  
 

1
24×32

2 cm2 = 384 cm2

102. Find the ratio of the areas of the in-circle and the
circumcircle of a square.

(a) 1 : 2 (b) 2 : 1

(c) 3 : 2 (d) 2 : 3
Sol. [A]

Let the side of the square be x. Then, its diagonal

= x2

Radius of inner circle =
2

x
 and radius of circum-

2

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [C]

100

[a] [b]

[c] [d]

Sol. [C]

101.
20 24 

(a) 192 cm2 (b) 384 cm2

(c) 768 cm2 (d)
Sol. [B]

2x 

(20)2 = (12)2 + x2

16  2 2x = (20) - (12) 256

= 32 

=
1
2

× 

= 
  
 

1
24× 32

2
2 = 384 2

102.

(a) 1 : 2 (b) 2 : 1

(c) 3 : 2 (d) 2 : 3
Sol. [A]

x = x2

= 
2

x
 =
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2

2 2

x x


= 

2 2 1 1
: : 1: 2

4 2 4 2

x x  
  

 

103. PQRS 

PM SN, NR = 9 PS = 12 QM = NR 

NR = SN 2 

(a) 170 (b) 182

(c) 189 (d) 191

Q M N R

S P 

Sol. [C]

NR = QM = SN = 9 

PS = 12 = MN

QR = QM + MN + NR = 9 + 12 + 9 = 30 

= 
1

2
× × 

= 
1

2
× (PS + QR) × SN

= 
1

2
× 42 × 9

= 189 2

104. 22 : 7 

4
1

7

(a) 1/3 (b) 1/2 

(c) 1/4 (d) 1 

Sol. [C]

scribed circle =
2

2 2

x x


Required ratio = 

2 2 1 1
: : 1: 2

4 2 4 2

x x  
  

 
103. In the given figure, PQRS is a trapezium in

which PM SN, NR = 9  cm, PS = 12 cm, QM =
NR and NR = SN. What is the area of trapezium?
(in cm2)

(a) 170 (b) 182
(c) 189 (d) 191

Q M N R

S P 

Sol. [C]
We have pass, NR = QM = SN = 9cm
Ps = 12cm = MN
QR = QM + MN + NR = 9 + 12 + 9 = 30 cm
We know that the area of the trapezium

= 
1

2
× sum of parallel sides × height

= 
1

2
× (PS + QR) × SN

= 
1

2
× 42 × 9

= 189 cm2

104. The ratio of the circumference and diameter of a

circle is 22 : 7. If the circumference is 
4

1
7

 metres,

then the radius of the circle is-

(a) 1/3 meter (b) 1/2 meter

(c) 1/4 meter (d) 1 meter
Sol. [C]

Given
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 

 

 

 



 

22
7

22
7

4
1 227
2r 7
11 22
14r 7
14r × 22 = 11×7

11×7 1
r =

14× 22 4

105. 25 16 
20 × 10 

(a) 16,000 (b) 18,000

(c) 20,000 (d) 22,000
Sol. [C]

25 16

= (25 × 16) 2  = 400 2

= 20 × 10 

= 
 
 
 

20×10
10000

 = 

400
20×10
10000

= 
400× 10000

20000 
20× 10

106.
14 

(a) 6 (b) 8 

(c) 12 (d)
1

7
2

Sol. [B]

D 

circumference of circle

circle diameter
circumference of circle

twice the radius

m

 

 

 

 



 

22
7
22
7

4
1 227
2r 7
11 22
14r 7
14r× 22 = 11×7

11×7 1
r =

14× 22 4

105. A courtyard 25 m long and 16 m broad is to be
paved with bricks of perimeter 20 cm × 10 cm.
How many bricks are required in total?

(a) 16,000 (b) 18,000

(c) 20,000 (d) 22,000
Sol. [C]

The length and breadth of the courtyard are given
as 25 m long and 16 m respectively.

Area of courtyard = (25 × 16) sq. m2 = 400 sq. m2

Perimeter of brick = 20 cm × 10 cm

Surface area of brick = m 
 
 

20 × 10
10000

number of bricks =

400
20×10
10000

= 
400×10000

20000 Bricks 
20×10

106. In order to reach the office on time, Mr. Roy passes
through a straight path in a circular fort which
takes him 14 minutes. But one day he had to take
a circuitous path as the direct way was blocked
due to repairs, as a result he reached his office
late. How late was he?

(a) 6 Minute (b) 8 Minute

(c) 12 Minute (d)
1

7
2

 Minute

Sol. [B]
Let what is the diameter of the circular fort?
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= D = 
D

2
D = 14 

 
       

 
D 14 D 22

7 7 × = 22
2 D 2 7

  = (22 14) = 8

107.

168 2

(a) 14 (b) 24

(c) 35 (d) 21
Sol. [A]

r 

r r 

r r 

2r 

  2 21
4× r r

4
= (2r)2 = 4r2 2

4r2  r2 = 168

 
 
 

2 22
r 4 - = 168

7

r2 × (28 - 22) = 168 × 7

4 7  2 168×7
r = 28×7 = 7

6

7 2 14   r 7 ×7 × 4
108.

(a) 16 (b) 8

(c) 12 (d) 20
Sol. [C]

Distance from center way = distance of roundabout = 
D

2
Time taken to cover the distance = 14 minutes
Time taken to cover the distance

 
       

 
D 14 D 22

7 7× Minute = 22Minute
2 D 2 7

Required time difference = (22 - 14) minutes = 8
minutes

107. Taking centers at the four corners of a square, four
circles of equal radius are drawn. Each circle
touches the other two adjacent circles. If the re-
maining area of the square is 168 cm2, then what is
the size of the radius of the circle? (in centimetres)

(a) 14 (b) 24

(c) 35 (d) 21
Sol. [A]

Let the radius of each circle be t cm.

r r 

r r 

Then the side of the square will be 2r cm which is
covered by all the four circles in the square.

Cm  2 21
4× r r

4
Area of square = (2r)2 = 4r2 cm2

Now, according to the question
Remaining area of the square

4r2  r2 = 168

 
 
 

2 22
r 4 - = 168

7

r2 × (28 - 22) = 168 × 7

4 7  2 168×7
r = 28×7 = 7

6

7 2 14cm   r 7 ×7 × 4
108. If the length of a rectangle is increased by 40%

and breadth is decreased by 20%, then the per-
centage change in the area of rectangle will be?
(a) 16 (b) 8
(c) 12 (d) 20

Sol. [C]
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x = 40, y = 20 

   
 
   
 
   
 



xy
x + y+

100

40×-20
40 - 20 +

100

800
40 - 20 -

100

40 - 28 = 12%

109. 32 
5/6 2

(a) 39 (b) 48
(c) 57 (d) 64

Sol. [B]
 = x 

= x
5
6

[ ]

x x 
5 5

x + 32
6 6

x = 12
= 12 

= 10 

= s (s - a)(s - b)(s - c)

s = 16 
a = 12 
b = c = 10 

= 16(16 - 12)(16 - 10)(16 - 10)

= 16× 4×6×6
= 4 × 2 × 6
= 48 2

110. 150 
2 5 

30 

(a) 76 (b) 72 

(c) 120 (d) 60 
Sol. [D]

We have x = 40 and y = 20.

Percent increase in area

   
 
   
 
   
 



xy
x + y+

100

40×-20
40 - 20 +

100

800
40 - 20 -

100

40 - 28 = 12%

109. The perimeter of an isosceles triangle is 32 cm
and each of the equal sides is 5/6 of the base.
What is the area (in cm2) of the triangle?

(a) 39 (b) 48

(c) 57 (d) 64
Sol. [B]

Base of an isosceles triangle = x cm

Equal sides = x
5
6

cm inscribed,

As per the question,

x x 
5 5

x + 32
6 6

x = 12cm
base = 12 cm
Equal sides = 10 cm

Now, area of triangle = s (s - a)(s - b)(s - c)

s = 16 cm
a = 12 cm
b = c = 10 cm

area = 16(16 - 12)(16 - 10)(16 - 10)

= 16× 4×6×6
= 4 × 2 × 6
= 48 cm2

110. The area of a rectangle is 150 metres2, when the
width of the same rectangle is increased by 2
meters and the length is decreased by 5 metres,
then the area of the rectangle decreases by 30
metres2. What is the perimeter of a square whose
sides are equal to the length of the rectangle?
(a) 76 meter (b) 72 meter
(c) 120 meter (d) 60 meter

Sol. [D]
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l b 
= l × b

lb = 150 2

2

2

2

( 5) ( 2) 150 30 120

( 5) ( 2) 120

5 2 10 120

150 5 2 10 120

5 2 20

5 150
2 20

2 20 750 0

10 375 0

(1 25) 15( 25) 0

( 15)( 25) 0

15 10

l b

l b

lb b l

b l

b l

l l
l

l l

l l

l l

l l

l b

     
    
    
    
  


  

   

   
    
   

 
= 

= 4 × l = 4 × 15
                                  = 60 

111. O 
4 A 

4 B 
4 

C 
3 D 

4 E
5

F B 

(a) (b)

(c) (d)
Sol. [D]

112.

Let the length of the rectangle l m and the breadth b m.

Then area of rectangle = l × b

lb = 150 m2

As per the question,

2

2

2

( 5) ( 2) 150 30 120

( 5) ( 2) 120

5 2 10 120

150 5 2 10 120

5 2 20

5 150
2 20

2 20 750 0

10 375 0

(1 25) 15( 25) 0

( 15)( 25) 0

15 10

l b

l b

lb b l

b l

b l

l l
l

l l

l l

l l

l l

l b

     
    
    
    
  


  

   

   
    
   

 
Side of square = length of rectangle (given)
Therefore, perimeter of the square = 4 × l = 4 × 15

              = 60 m

111. A man starts from point O and walks 4 km to-

wards west to point A, then takes a right turn

and walks 4 km to reach point B, he again takes

a right turn and walks 4 km to reach point C.

Then he took a right turn and walked 3 kms to

point D, now he took a left turn and walked 4

kms to point E, he again took a right turn and

walked 5 kms to point F.  The man at point B is

facing ------------------------

(a) South (b) West

(c) East (d) North
Sol. [D]

112. One morning after sunrise, Vikram and Vaital

were standing in a lawn with their backs towards

each other. Vikram's shadow fell exactly towards

left hand side, which direction was Vaital facing.
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(a) (b)

(c) (d)

Sol. [A]

 

D 

A 

B 

C 
113. P, Q, R, S T

P Q R P
T Q S, T S

R

(a) (b)

(c) (d)
Sol. [C]

114.
270º 90º 

(a) (b)

(c) (d)
Sol. [B]

115.

(a) South (b) North-East

(c) East (d) South-West

Sol. [A]

 

D 

A 

B 

C 

Vikram 

Vaital 

113. Of the five villages P, Q, R, S and T situated close

to each other. P is to the west of Q, R is to the south

of P, T is to the north of Q and S is to the East of T.

then R is in which direction with respect to S ?

(a) North-West (b) South-East

(c) South-West (d) Data inadequate
Sol. [C]

114. If Raja is facing east and he first turns 270º  clock-
wise and then 90º  anticlockwise then in which
direction is he facing now?

(a) South (b) West

(c) North (d) East
Sol. [B]

 

Raja 

North 

East West 

South 

115. If South-east is called East, North-West is called
West, South-West is called South what will North
be called?
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(a) (b)

(c) (d)
Sol. [A]

116. O 
4km A 

4km B 
4km C 

3km D 
4km E 

5km F 
A E  

km 

(a) 68 (b) 5 65

(c) 65 (d) 2 65
Sol. [C]

A E = 2 2(AG) (EG)

   
(

65

 



2 2(8) 1)

Km. 

117. 10
25 

10 
5 

(a) 35 (b) 20
(c) 25 (d) 30

(a) North-east (b) South-east
(c) North-west (d) South-west

Sol. [A]

116. Starting from point O, a person facing west walks
4 km to reach point A. From there he takes a right
turn and walks 4 km to reach point B, then he
takes a right turn and walks 4 km to reach point
C. After that he again takes a right turn and walks
3 km to reach point D. Now he takes a left turn
and walks 4 km to reach point E. Then he takes a
right turn and walks 5 km to reach F. What is the
shortest distance (in km) between point A and
point E?

(a) 68 (b) 5 65

(c) 65 (d) 2 65
Sol. [C]

Distnace between point A and point E

= 2 2(AG) (EG)

  
(

65

 



2 2(8) 1)

Km. 
117. Starting from her house, a woman walks 10 km

towards west. She turns left and walks 25 km
then she turns left and walks 10 km.  After that
she again takes a left turn and walks 5 km. How
far is she from her home now (in Km)?
(a) 35 (b) 20
(c) 25 (d) 30
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Sol. [B]
10 

10 

25 

5
 

(25-5)km = 20km 

118. 20 
10 

35 
5 15 

(a) 5 (b) 10 

(c) 1 (d)
Sol. [A]

  

35 

10 
5 

(10-5)km = 5km 

 

20 

119. 1 
5 

2 
9 

(a) 3 (b) 20  

(c) 5 (d) 7 

Sol. [C]

(A
B, B C, C D, D E)

Sol. [B]
10 

10 

25 

5

Current Position  

Starting Position 
(25-5)km = 20km 
 

118. Rakesh is standing at a point. He walks 20 meters
towards East and then 10 meters towards South.
Then he walks 35 meters towards West and then
5 meters towards North. Then he walks 15 meters
towards East. What is the shortest distance in
meters between his starting point and his current
position?

(a) 5 meter (b) 10 meter

(c) 1 meter (d) Cant' be determined
Sol. [A]

  

35 

10 
5 

Starting point 
(10-5)km = 5km 
 

Current Position 

20 

119. A person walks 1 km towards East and then he
turns towards South and walks 5 km. Then he
turns to East and walks 2 km, after that he turns
to North and walks 9 km. How far will he be from
his starting position now?

(a) 3 km (b) 20  km

(c) 5 km (d) 7 km

Sol. [C]

Figure shows the movement of a person, which is
as follows (A to B, B to C, C to D, D to E)
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DF = BC = 5 

EF = (DE DF) = (9 5) = 4 

BF = CD = 2 

AF = AB + BF = AB + CD = (1 + 2) = 3 

A 

=    2 2 2 2AE = AF EF 3 4 25

= 5 

120. ABCD, 90 
AC 

B, D 
B C 

8 / 10 /

(a) A 30 AD 
(b) B 10 BC 
(c) D 30 AD 
(d) C 10 BC 

Sol. [D]

D C 

B A 
N 

S E 

W 

Rohan 

Rahul 

= 8 /

=
8000 20

/ /
60 60 9

   
   
   

= 10 /

=
1000 20

/ /
60 60 9




   
   
   

20 25 45

9 9 9
  

 
 

5 

Clearly DF = BC = 5 km.

EF = (DE – DF) = (9 – 5) km = 4 km

BF = CD = 2 km

AF = AB+ BF = AB + CD = (1+ 2) km = 3 km

Distance of the person from starting point A

=    2 2 2 2AE = AF EF 3 4 25

= 5 kms.

120. A square field ABCD of side 90 m is located in

such a way that its diagonal AC is from north to

south and the corner B is west to D. Rohan and

Rahul start from  B and C in clockwise direction

and in anticlockwise direction with the speed of

8 km/h- and 10 km/h- respectively. Where will

they cross each other for the second time?

(a) On side AD at a distance of 30 m from A
(b) On side BC at a distance of 10 m from  B
(c) On side AD at a distance of 30 m from D
(d) On side BC at a distance of 10 m from C

Sol. [D]

The sequence of square field is clearly shown in
the attached picture.

D C 

B A 
N 

S E 

W 

Rohan 

Rahul 

Rohan's speed = 8 km/h.

=
8000 20

/ /
60 60 9

   
   
   

Rahul's speed = 10 km/h.

=
1000 20

/ /
60 60 9




   
   
   

Since Rohan and Rahul are moving in opposite
directions,

Hence they will cover a distance of 5 meters to-

gether in one second 
20 25 45

9 9 9
  

 
 

.

To meet at a point, they should be taken together at
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(CD + DA + AB) i.e. 270 m. distance has to be cov-
ered.

Now since a distance  of 5 meters is covered in 1 sec.

Hence 270 m. 
1

270 54
5
  

 
 

The distance will be

covered in seconds.

Now, distance = 
20

54
9
 

 
 

covered by Rohan in

54 sec = m.= 120 m.

Distance covered by Rahul in 54 seconds = m. =

25
54

9
 

 
 

 150 m-

So Rohan and Rahul meet for the first time on the
side AD at a distance of 30 m from A and 60 m from
A. Now to meet again Rohan and Rahul have to
complete one more round i.e. they have to cover a
distance of 360 meters together.

Since a distance of 5 meters has been covered by
both of them in 1 second.

Hence, both will cover a distance of 360 metres.

= 
1

360 72
5
  

 
 

Now, the distance covered by Rohan in 72 seconds

= 
20

72 160
9
  

 
 

and the distance covered by Rahul in 72 seconds=

25
72 200

9
  

 
 
So Rohan and Rahul are twice on the side BC 10 m
from C and 80 m from B. See you at a distance.

121. Jaisalmer’s Nokh Solar Park (925 MW) and
Bikaner’s Pugal Solar Park (1450 MW) are
being developed by which enterprise?

[a] M/s Adani Renewable Energy Park
Rajasthan Limited

[b] Rajasthan Solar Park Development Company

[c] Reliance

[d] Essel Saurya Urja Company

Sol. [b]

(CD + DA + AB)
270 

5 1 

270 
1

270 54
5
  

 
 

54 = 
20

54
9
 

 
 

= 120 

54 = 
25

54
9
 

 
 

= 150 

AD A 30 
D 60 

360 

1 5 

360 

= 
1

360 72
5
  

 
 

72 

= 
20

72 160
9
  

 
 

72 

= 
25

72 200
9
  

 
 

BC C 10 
B 80 

121. (925 MW)

(1450 MW)

[a]

[b]

[c]

[d]

Sol. [b]
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(RSDCL)
(RRECL)

(i) I II-RRECL RSDCL
(ii) III  

IL&FS
(iii) IV 
(iv)

(v) 1B 

(vi)
(RSDCL)

(vii)
(RSDCL)

122. (RRECL)

[a]

(RSPCL)

(REDA) 2000 

[b]

[c] 14 

[d] 2022 

Sol. [a]

RRECL 2002 

(REDA)

(RSPCL)

RRECL 2009 

14 

Rajasthan Solar Park Development Company
(RSDCL) is a subsidiary of Rajasthan
renewable  Energy Corporation Limited
(RRECL).
The following solar parks are being developed
in the state-
(i) Bhadla Solar Park Phase I and II-RRECL

and RSDCL
(ii) Bhadla Solar Park Phase III - Saurya Urja

Company and IL&FS
(iii) Bhadla Solar Park Phase IV- Adani Group
(iv) Phalodi Pokaran Solar Park - Essel Saurya

Urja Company
(v)Fatehgarh Phase 1B - M/s Adani Renewable

Energy Park Rajasthan Limited
(vi) Nokh, Jaisalmer - Rajasthan Solar Park

Development Company (RSDCL)
(vii) Pugal, Bikaner - Rajasthan Solar Park

Development Company (RSDCL)
122. In the context of Rajasthan renewable

Energy Corporation Limited (RRECL), select
the incorrect statement-
[a] It was established in the year 2000 by

merging Rajasthan State Power
Corporation Limited (RSPCL) and
Rajasthan Energy Development Agency
(REDA).

[b] It is the nodal agency of the Government
of India for the production of non-
conventional energy sources in the state.

[c] Energy Conservation Day is organized by
this organization every year on 14th
December.

[d] It has been awarded the National Energy
Conservation Award in the “State
Performance Category” by the
Government of India in the year 2022.

Sol.[a]
RRECL has been established in the year 2002
by merging Rajasthan Energy Development
Agency (REDA) and Rajasthan State Power
Corporation Limited (RSPCL)
It is the nodal agency of the Ministry of New
and Renewable Energy, Government of India
for the production of non-conventional energy
sources in the state.
RRECL has been organizing Rajasthan Energy
Conservation Awards since 2009 and Energy
Conservation Day is celebrated on 14th
December.
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123. 2022 

[a] 750 MW [b] 1000 MW

[c] 1500 MW [d] 1690 MW

Sol. [D]

2022 4,442.145 MW

1,690 MW

 2022 

124. 1.  2018-19 2021-22 

11.90% 15.53% 

2.  5.79 

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [d]

2022 9080 2018-19 
2021-22 11.90% 

15.53%

22 180 

43965 

1.14 97 

125. 1 2022

[a] 2025 [b] 2023

[c] 2027 [d] 2024

Sol. [c]

1 2022

EV 

123. What is installed wind solar hybrid power
plant capacity  in the state by December 2022?

[a]750 MW [b] 1000 MW

[c] 1500 MW [d] 1690MW

Sol. [d]
Till December, 2022, a total of 4,442.145 MW
capacity wind power plants have been
commissioned in the state. Apart from this,
wind solar hybrid plants of 1,690 MW capacity
have been commissioned by the month of
December, 2022.

124. 1. From the year 2018-19 to the year 2021-22,
total energy availability and total net
energy consumption have increased by
11.90% and 15.53% respectively in the state.

2. There has been an increase of 5.79 percent
in the total transmission network during
the same period.

The incorrect statement from the above is-

[a]Only 1 [b] Only 2

[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [d]
Availability and consumption of energy in the state:
9080 crore units by March 2022 (11.90% growth
from 2018-19 to 2021-22).
- 15.53% increase in net energy consumption
- Number of consumers (as on November 22) -
180 lakhs
- Rural Electrification - Electrification of 43965
villages
(Electrification of 1.14 lakh households and
97 lakh rural households)

125. The Rajasthan Electrical Vehicle Policy,
which has come into force from September
1, 2022,will be effective till which year?

[a]2025 [b] 2023

[c] 2027 [d] 2024

Sol. [c]
The Rajasthan Electrical Vehicle Policy has
come into effect from September 1, 2022,
which will remain in effect for the next five
years.
Objective-
- Promoting adoption of EV in both personal
mobility and public transport.
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2019 

126. 2020-21 

[a]9.93% [b]10%

[c] 8.83% [d]10.83%

Sol. [c]

(6019 Km) (68103
Km) 8.83%

127.

[a] 10,290
[b] 6019 Km.
[c] 81.47 Km.
[d] 110.45 MW

Sol. [d]
120.45 MW

- 13
2010

128.

[a] 21 2022

[b] 17 2021

[c] 18 2019

[d] 17 2022

Sol. [b]

17 2021

1000 
12000 

129. 2022 

- Enabling creation of a robust network of EV
charging stations and battery swapping
stations that cater to all types of EVs with a
focus on clean energy sources.
To promote R&D and skill development in the
electric mobility space of the state.
Promotion of manufacturing of electric
vehicles and batteries in the state by giving
appropriate incentives under RIPS-2019.

126. According to the Indian Railway year book
2020-21, state length of railway route is what
percentage of  Indian Railways-

[a]9.93% [b]10%

[c] 8.83% [d]10.83%

Sol. [c]
The railway route in the state (6019 km) is
8.83% of the Indian railway route (68103 km).

127. Choose the mismatch pair from the following
related to infrastructure in the state-

[a]Total Post Office - 10,290

[b] Total Railway-6019 Km

[c] Road density -81.47 Km

[d] Total biomass capacity - 110.45 MW

Sol. [d]
Total Biomass Capacity - 120.45MW
Biomass plants - 13
Biomass Policy- 2010

128. The flagship scheme Mukhyamantri Kisan
Mitra Urja Yojana has been launched on?

[a]21 October 2022

[b]  17 July 2021

[c] 18 December 2019

[d]  17 July 2022

Sol. [b]
Mukhyamantri Kisan Mitra Urja Yojana-
Launch-July 17, 2021
By the Department of Energy- 1000 rupees per
month to the general category (Flat and
metered)rural agriculture consumer and up to
a maximum amount of 12000 rupees per year.

129. As of March 2022, the correct ascending order
of the roads in Rajasthan on the basis of
length is-
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[a] , , ,
,

[b] , , , 
, 

[c] , , , 
, 

[d]  
 

Sol. [a]

31 2022 

1 186462.10 Km.

2. 51224.52 Km

3. 17237.59 Km

4. 13270.93 Km

5. 10618.09 Km

Note : 
186462.10 Km.

130. 2023-24 1100 MW 

[a] [b]

[c] [d]

Sol. [c]

2023-24 1100 MW 

125 MW 
1 

810 MW 
2000 MW 

131.

[a] 45 [b] 55

[c] 42 [d] 37

Sol. [c]

• 11

[a] National Highways, Major District Roads,
State Highways, Other District Roads,
Village Roads

[b] Other District Roads, National Highways,
Village Roads, Major District Roads, State
Highways

[c] State Highways, Village Roads, Other
District Roads, National Highways, Major
District Roads

[d] Village Road, Other District Road, State
Highway, Major  District Road, National
Highway

Sol. [a]
Length of various roads in the state till March
31, 2022.
1. Village Road- 186462.10 Km.
2. Other District Road-51224.52 Km.
3. State Highway-17237.59 Km.
4. Major District Road-13270.93 Km.
5. National Highway-10618.09 Km.
Note: Update the length of rural roads
186462.10 km. on page no. 62 in the notes of
economic review.

130. According to the state budget 2023-24,  the
lignite based power plant of 1100 MW has
been proposed at?

[a] Gurha [b] Pugal

[c] Barmer [d] Giral

Sol. [c]
According to the State Budget 2023-24, 1100
MW  lignite based power plant is proposed in
Barmer.
The process of setting up Unit 1 of 125 MW
lignite based power project at Gurha in
Bikaner is in progress.
Approval to set up a total 2000 MW  solar
power park including 810 MW  solar power
plant at Pugal (Bikaner).
Giral Power Plant-Lignite based power plant

131. What is the rank of India in the Intellectual
Property Index 2023?
[a] 45th [B] 55th
[c] 42nd  [d] 37th

Sol. [c]
• The 11th edition of the International Intel-

lectual Property Index has been published.
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• US 

• 95.48 42 
38.84 

• 50 

132.

[a]
[b]
[c]
[d]

Sol. [c]

2023 -

180 85 

133.

1. 28 

2. C.V 

3.

[a] 1 [b] 2

[c] 3 [d]

Sol. [d]

28 1928 
28 

. 1930 

. 1986 

. 2023 

134.

• Published by - Global Innovation Policy
Center of the US Chamber of Commerce

• USA ranked first with 95.48 points India
ranked 42nd with 38.84 points Venezuela
ranked last.

• For this, 50 unique indicators such as pat-
ents, trademarks, copyrights, etc. are used.

132. Corruption Perception Index is issued by-

[a] World Bank

[B] International Monetary Organization

[c] Transparency International

[d] None of the above

Sol. [c]

Corruption Preception Index 2023

Published by - Transparency International

India - 85th Rank (among 180 countries)

Top Place - Denmark

Most Corrupt - Somalia

133. With reference to National Science Day, con-

sider the following statements-

1. Every year 28 February is celebrated as Na-
tional Science Day.

2. It is celebrated to commemorate the dis-
covery of Raman effect by C.V Raman.

3. This year its theme was "Global Science for
Global Wellbeing".

Choose the incorrect statement from the

above-

[a] 1 only [b] 2 only

[c] Only 3 [d] None of the above

Sol. [d]

February 28 is celebrated as National Science
Day to mark the discovery of "Raman Effect"
by Sir C-V-Raman on February 28, 1928.
. In 1930, CV Raman was awarded the Nobel

Prize for this.
. It started from 1986.
. The theme of 2023 was “Global Science for

Global Wellbeing”
134. Which country has recently decided to remove

the face of the British Monarch from its currency-
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[a] [b]

[c] [d]

Sol. [C]

135. 26 

[a] [b]

[c] [d]

Sol. [d]

26

136.

[a]

[b]

[c] L1

[d] ISRO PMO

Sol. [a]

•
UAE 

•
2022 

•

• L1

137.

[a] Ceres 

[b] Wolf 1069 b

[c] C/2022 E 3(ZTF)

[d]

[a] Canada [b] Malaysia
[c] Australia [d] South Africa

Sol. [C]

Australia has decided to remove the face of
the British monarch from its currency.

135. 'Zhongxhig-26' satellite has been launched

by which country?

[a] Japan [b] Australia
[c] South Korea [d] China

Sol. [d]
China has launched a satellite named
"Zhongxing-26" with the aim of providing
broadband connectivity services for aviation
and shipping related operations.

136. Which statement is incorrect with reference

to the space sector-

[a] India is the only country to reach Mars in
the first attempt.

[b] Vikram-S is India's first privately devel-
oped rocket.

[c] India's first mission to the Sun is Aditya L1.
[d] ISRO reports directly to the PMO office in-

stead of any ministry.
Sol. [a]

• India is the first country to reach the orbit
of Mars in the first attempt. UAE has also
succeeded in entering the orbit of Mars in
its first attempt.

• Vikram-S was the first private sector rocket
to be launched in 2022 by space technol-
ogy start-up Skyroot Aerospace.

• ISRO is not under any ministry. It reports
directly to the Prime Minister's Office.

• India will launch its first Sun mission
Aditya-L1 this year.

137. Which is the comet that passes closest to the

Earth?

[a] Ceres

[b] Wolf 1069 b

[c] C/2022 E3 (ZTF)

[d] Vista
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Sol. [c]

C/2022 E ZTF

Wolf 1069 b 

138.

[a] [b]

[c] [d]

Sol. [c]

27000 

139.

[a]

[b]

[c]

[d]

Sol. [B]

24%

34 

140. 15-17 2023 

[a] [b]

[c] [d]

Sol. [d]

2023 
12

141.

[a] [b]

[c] [d]

Sol. [c]
The closest green comet to Earth is C/2022 E
ZTF.
Wolf 1069 b Earth-like planet discovered out-
side the solar system.
Vista and Cirrus are also names of well-known
comets.

138. According to NASSCOM, what is the rank of

India in the world in terms of active start-ups?

[a] First [b] Second

[c] Third [d] Fourth

Sol. [c]

India is at the third position after the US and

China with around 27000 active start-ups.

139. Choose the incorrect statement from the fol-
lowing-

[a] India is the largest producer of milk.

[b] India is the largest exporter of milk products.

 [c]Rajasthan ranks first in milk production in
the country.

[d] Jaipur is the most milk producing district
in Rajasthan.

Sol. [B]
India is the largest producer of milk (24% of
the world's production) but New Zealand
ranks first in exports due to high domestic
consumption. India ranks 34th in milk exports
in the world.

140. In which country the World Hindi Confer-

ence was organized from February 15-17, 2023?

[a] India [b] Nepal

[c] Mauritius [d] Fiji

Sol. [d]

The 12th edition of World Hindi Conference
2023 was organized in Nandi Nagar, Fiji.

Its theme was "From Traditional Knowledge

to Artificial intelligence".

141. Where was the first Organic Tourism Invest-

ment Conference organized?

[a] Jaipur [b] New Delhi

[c] Pune [d] Bengaluru
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Sol. [B]

The country's first Organic Tourism Invest-

ment Conference was organized in New Delhi.

142. With reference to HD-3385, consider the fol-

lowing statements-

1. It is a new variety of rice developed by

ICAR.

2. It is tolerant of seasonal changes.

Which of the above statements are correct-

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [b]

HD- 3385 is a new wheat variety developed by
ICAR. It is capable of meeting the challenges
related to climate change and rising heat.

143. With reference to the 18th World Security

Congress, consider the following statements-

1. It was organized in Jaipur.

2. Its theme was Railway Safety Strategy:- Re-
sponses and Vision for the Future.

Choose the correct statement from the above-

[a] 1 only [b] 2 only

[c] both 1 and 2 [d] neither 1 nor 2

Sol. [c]

The 18th World Security Congress was orga-
nized in Jaipur.

The theme was “Railway Safety Strategy re-
sponse and vision for the future”.

144. Who is the author of the book Victory City?

[a] Salman Rushdie

[b] Tarun Pithode

[c] Shashi Tharoor

[d] Varun Gandhi

Sol. [A]

Victory City  - Salman Rushdie

Operation Ganga  - Tarun Pithode

Ambedkar: A Life -  Shashi Tharoor

The Indian Metropolis -  Varun Gandhi

Sol. [B]

 

142. HD-3385 

1. ICAR 

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [b]

HD- 3385 ICAR 

143. 18

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [c]

18

144.

[a]

[b]

[c]

[d]

Sol. [A]
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145. Which place did Rajasthan secure in Khelo

India Youth Games 2023?

[a] 5th [b] 4th

[c] 6th [d] 8th

Sol. [B]
• The 5th edition of Khelo India Youth

Games 2022 was organized in Madhya
Pradesh. (by January 31, 2023)

• Mascot - Asha (Cheetah)
• Theme Song - Hindustan Ka Dil Dhadka

Do
• Rajasthan – with 19 gold, 10 silver and 19

bronze medals stood at the fourth position.
• Maharashtra, Haryana, Madhya Pradesh

secured the top positions.
146. Which class gets benefit from Shubh Shakti

Yojana-
[a] Farmer [b] Laborer
[c] Players [d] Student

Sol. [b]
Under the Shubh Shakti Yojana, financial assis-
tance is given to the daughters of laborers to
make them self-reliant, for education, business
and marriage. In this, an amount of Rs 55000 is
given when the daughter is 18 years old.

147. Which is the first urban body in the country
to issue green bonds?

[a] Jaipur [b] Jodhpur

[c] New Delhi [d] Indore

Sol. [d]

Indore is the first urban body in the country
to issue green bonds.

148. Who was honoured with Sangeet Natak
Akademi Award ?

[a] Damodar Mojo [b] Vilas Janeve

[c] Raghu Pathak [d] Ramlubhaya

Sol. [b]
• The Sangeet Natak Award Akademi was

given to Vilas Janve.
• Damodar Yoza was awarded the 57th

Jnanpith Award.

145. 2023 

[a] 5th [b] 4th

[c] 6th [d] 8th

Sol. [B]

• 2022 5
(31 2023 

•

•

• 19 10 19 

•

146.

[a] [b]

[c] [d]

Sol. [b]

18 
55000 

147.

[a] [b]

[c] [d]

Sol. [d]

148.

[a] [b]

[c] [d]

Sol. [b]

•

• 57
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149. What is the rank of Rajasthan on the basis of
installed capacity of solar power pumps in
the country-
[a] First [b] Third
[c] Second [d] Fourth

Sol. [a]
According to the Ministry of New and Renew-
able Energy (Government of India), Rajasthan
ranks first on the basis of installed capacity of
solar power pumps.

150. Match the following pairs-
List - I List - II

A. Suposhit Maa 1. Jodhpur
Campaign

B. All India Marwari 2. Kota-Bundi
horse show

C. Raasta Kholo 3. Jaipur
Campaign

D. Cancer treatment 4. Alwar
at your doorstep
A B C D A B C D

[a] 3 1 2 4 [b] 2 1 4 3
[c] 2 4 1 3 [d] 3 4 2 1

Sol. [b]
Suposhit Maa - Kota-Bundi
Campaign  Parliamentary

Constituency
All India Marwari - Jodhpur
Horse Show
Rasta Kholo campaign - Alwar
Cancer Treatment At   - Jaipur
Your Doorstep

149.

[a] [b]

[c] [d]

Sol. [a]

150.

    I II

A.   1. 

B. 2. 

C. 3. 

D. 4. 

A B C D A B C D

[a] 3 1 2 4 [b] 2 1 4 3

[c] 2 4 1 3 [d] 3 4 2 1

Sol. [b]
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DATE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
D D A D C B C D C C B A B D C
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
B D B A A C D B C D C D A C A
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
D D A D C B A A C B C A C D B
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
D C B C B C B D A A D D A A B
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
B D A B C C C A A C D * B D A
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
A D A B D D A C D A B D C D B
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
C B B C C B C D C C B A C C C

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
B A C B D D A C B A C B A C D

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
B A D D C C D B A C C C D C D

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
A C C B D B B C A B B D B A B
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